al™

' ,l/ The Goddess Kaila Devi is considered an

incarnation of:

Choose the most appropriate answer from the

options given below:
(A) Parvati

(B) Bhadra Kali
(C) Durga

(D) Mahalaxmi

(E)  Question not attempted

e <t i foFaT Staar a0
freffaa fasedt & & waifas suge 3o I3
(A) UEdr

(B) WET &Il

(C)

(D) wETTEHt

(E) SAguiays

In which famous temple of Rajasthan do we find
rats by the thousands?
Choose the most appropriate answer from the
options given below:
(A)  Karni Mata Temple
(B) Kaila Devi Temple
(C) Jeen Mata Temple
(D) Ma Tripur Sundari Temple
(E)  Question not attempted
e 3 for ifrg wh & Tl w9
I AT &2
et fasedt § @ aaifas Iugw ST FH:
«K) =t e ufw ‘
(B)  &eT <t At
(C) oy mrar wft
(D) = Prgrg=d af=t
(E) 3dia v

JKL-Z10] =

a/As per the classification of musical instruments,

to which family does the “Ektaara” belong?
Choose the most appropriate answer from the
options given below:

(A) Ghan (B) Tat

(C)  Sushir (D) Avnadhya

(E)  Question not attempted

ara A5 F A § cvwanr fEa A 7 wEfaa
27

frefafaa faredi 1§ 4 gatfas 7agw® 707 34:
4K T (B) 7=

(C) Fm (D) A=A

(E) Frdfeag

Mastitis disease is found in which combination of

following herd/flock?

Choose the most appropriate answer from the

options given below:

(A) Sheep and fowl

(B) Cattle including buffaloes

(C)  Sheep and goat

(D) Pigand Goat

(E) Question not attempted
Freaferfiaa 3 & Fre a7 i) 3 eien (Rfiefom) am
qTAT ST 82

Frerferfera fareedt 3 & wrrtferas Jugen e 3.

(A) g S

By ¥t 3w waE ()
(C) g 3 awtr

(D) G IAR TR

(E) i@ yy
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Name of the first cloned sheep was
Choose the most appropriate, answer from the

options given below:

(A) DPoly (B) “Rosic

©)  Molly (D) :.b:(\lly

() Question not attempted, |

TR YT FAN 6 TE W H AT o
frafifta fawedl 3 A waffim sogw 6T
NZR ISl (B) Ush

(C) wIe (D) =it

(E)  3T{aia v L:

Granular white ghee obtmneﬁ from buffalo is due

to the feeding of (c\'}kes

Choose the most appropriafe) answer from the

O

options given below:

(A) Groundnut (B) C'otton seed
<1

(C) Mustard (D) E!;»,inseed

(E) Question not attempted>

%%wammm%m%mﬁ

ﬁ@a‘?%aliﬁﬁ,%l
fr=fafed fawed & § @aifad 3ug™ ST IH:

(A) T i P

(C) =&l (D) et
(E) 3Idi@ 9% =it
o8
Which of the following is (thk tallest breed of
. : o
2
sheep in India? N

Choose the most appropriaté)answer from the

options given below: -
(A) Nilgin (B) Nellore
(C) Deccani (D) :;l?:xkaneri
(E)  Question not attempted-,
frfafaa & & wia # 9 @ @A T g
) (‘“l
frafafad fawegi 4 @ mrffam IUgH I I
(A) Frafrd s Gt
(C) ZF=A (D) EEd
(E) Tafta w4
JKL-Z10] =

8

The difference between principal and simple
interest for S years at a rate of 6% per annum is
T 3500, then the principaliis:

6% aTftieh ST 1 3T 8 5 2T T Gera= 77 qrawo
SIS T AT 3500 2, G A 2:

T 4500 B) T 6000
(C) T 4000 (D) T 5000
i}
(E)  Question not attempted / FATTd 54

2 _3 _
If ?of x~74—of y==zofz thenx:y:z

|| ,Lnlsn

zzf‘axw TV W%— :i’?ﬂ %.?ﬁx:y::%:
(A) 16:15 18 (B) 5:4:3

6:12:20 (D) 18:16:15
(E)  Question not attefrix;);ted / 3133?!‘&?[9"%

i
A man buys an article at-aprice 20% less than its

marked price and sells it at a price 20% more than
its marked price. His profit percentage is:

U Afn foret aeq @l 3fd 359 § 20% FH
qta»‘am%ﬁarm‘q\ma 20% a:ﬁﬁatr—mr
S <l 81 I A aa‘rsxﬁ-r?'m%

(A)  50% JBY 40%
(C)  45% (ﬁ) 35%
(E) Questxon not attempted / Wﬁf{?f 9A

;r:"

Which of the followifilg' National Highways
passes through Rajasthd:xi?;

(A) National Highwayio - 73
(B) National High\vag‘}x:o -83
(C) National Highwaymo - 11
(D) National Highway no - 40
(E)  Question not attempted
frafafaa & @ =1 m‘né“m NELILER S |
e & o

JA) U asmmi m.an a73
(B) QIRRIE ] ma{r‘ .53
(C) Uy usmnt @& |
(D) WS USHIT §E&T - 40
(E) srqafgd
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127 Palash forest is a sub-type of which of the
following forests in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Tropical thorn forests

(B)  Tropical/dry deciduous forests

(C)  Sub-tropical mountains forests

(D) Mangrove forests

(E)  Question not attempted

TS | U & 59 Fafafaa 1 94 /g a9 5
& 3Y TR &2

retferfan frest 3 & wratfires uge 39
(A) ST Fd aq

(B) WIS/ qoraTet &

oy < v &=

(D) TWEEA

(E) Aquiawd

)3/\\'hich of the following statements is correct

about Salar forests in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Pine is the chief tree of these forests.
(B) These forests are found in only the plain
areas.
(C) = Its wood is used for making packing boxes.
(D) Itis found in Jaisalmer, Jodhpur regions of
Rajasthan.
(E)  Question not attempted
fr=fafEa 9 F1H-91 F97 T4 F QAR a4 &
FRH A
Freferfiaa faed & & Fratfires sugw UG
(A) e T F:9E g4 8l
(B) T34 FAd HaTH &1 H U1 A1
(C) =HE1 a=Ffedl &1 W4 Afdr dfag a=1 o
T ST 21
(aa/ T TS & ST, S & § qrar Srar
2
(E) i@ 94
JKL-Z10] =

J/ Who is the Science and Technology Minister of
State (independent charge) in Rajasthan (as on
2024)?

Choose the most appropriate answer from the

September,

options given below:

(A) Kal Raj Mishra

(B) Bhupendra Yadav

(C) Sanjay Sharma

(D) Bhajan Lal Sharma

(E)  Question not attempted

T § a5 317 aa1ehT Tsg 931 (FFdF 99T
F19 (Faawr, 2024 ) 22

frafefaa fasedt @ & Faifis sagw s 34
,m/am'wﬁm
IZ 15
(C) G I
(D) W AT I
(E) ruiayd

15  Shri Janki Lal Bhand, the famous Rajasthani who
was given ‘Padma Shri’ Award in 2024 is an
artist of
Choose the most appropriate answer from the

options given below:

(A) Ghoomar folk dance
(B) Pottery Art
(C) Painting
(D) Bahrupiya Art
(E) Question not attempted
TSTEAT o 2t STl St Wig iS58 2024 F oy ot
QeI | ST fora % TR B
frfata fasedi & & waifaes suges seT:
(A) TR I
o (B) U (FFET) FHell
(C)  ferrepem (dfem)
(D) =& el
(E) 3guf@awy
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J/ Which of the following departments has imposed

a ban on the manufacture, import, stocking, sale

and usc of plastic carry bags in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Information and public relations
department

(B)  Rajasthan State Pollution Control Board

(C) Education department

(D)  Tourism department

(E)  Question not attempted

frafafaa @ | oo & e fawm 3 wnfies

Ofeai & fFmior, s, sderon, fsft 3t 3ugm w

ey @ feam &2

fr=fafaa fasedl @ @ watfaes sagw sa 4

(A)  FFAT UE SHEres faam

_g) T e wguor i

(C)  Tare fawm
(D) uded favmr
(E) Smia 4

J/Which of the following villages of Rajasthan is
winner of the “Best Tourism Villages
Competition-2024” in  the category of
‘Community Based Tourism’ by the Ministry of
Tourism Government of India?

Choose the most appropriate answer from the
options given below:

(A) Ranakpur (B) Deomali

(C) Kuchaman (D) Kumbhalgarh

(E)  Question not attempted

TsTEaTE 1 frefatad § @ F9 |17 9 0T
i 9y gdea nia afaaiTar-2024" 1 fastar &
frfafiad fagedi § @ aaffis Iugw 39t T4
o R (B) Zawredl

(C) FA™A (D) FHcTg

(E) srafta a4

JKL-710] ==

DS/Two articles are sold at the same price. On one

article the shopkeeper gained 15% and on second
article he lost 15%. What was his overall

percentage gain or loss?
(A) 2'7 % loss
(B) No profit no loss

(C) 217 Yo gain

(D) 17 % loss

(E)  Question not attempted

2 TEU FAH T WA St ) et g @
TRTET 15% T TTH =T & S gl a8 T 15 %
1 ISTAT &1 ST 72T BT T et Wherard 471 22
A) 25 %@ By e, T
© 2fwEw (D) L%t

(E) gaf@ g _n

B D

If 84+ — 24¢y 418y~ = 0, then the ratio x : y is:
afg 8x2 — 24xy + 18y> = 0, x \W@Tﬁ%
(A) 9:4 By 2:3

) 3:2 (D) 4:9

(E)  Question not attempted / 3Tqid T%

The ratio of present ages of x’and ‘y"is 3 : 2. Six
years ago the ratio .of their ages was 5 : 3. The
sum of their present éges 1s:

%’ 3Ty T AR 1T T 371G 3 2 2 B1 B T
el IFhT ST T SIS : 3 AT ITHT FATH 307
Tﬂ?ﬁ"T%

A) 75 (B) 50

Oy 55 D) 60

(E)  Question not attempted / 3T T

_,H/If l? of x= % of y, then by what percentage x is

more than y?
afg x &t ‘5=y Bl %,?ﬁ.\‘. y ¥ foraar wfaea
s1fues 22

(A)  25% (B) 10%
©)  20% D) 15%
,/ﬂ{ Question not attempted / ag?fﬁ?fw
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Which of the following dam projects is not
situated in Rajasthan?
Choosc the most appropriate answer from the
options given below: (N

N
(A)  Damodar Valley I’rp_iéc(
(B)  Sidhmukh Dam Prdj'/c&

.

(C)  Meja Dam Project ‘
(D) Jawai Dam Project

. i‘
(E)  Question not attempted

Frafafe & & F9-H a‘fw gfEsHT TS |
R 7 & ‘n,'

frerfefiaa fasredl 3 @ gaffite suge saU T
(A) mwm‘f’

(B) Ta<ora sty afEsET

/ . <
(© ST eREsEr
(D) aETE &g giEgeET

N
(E) 31q9ia 9 N
o

i)
Where is Panchana dam situated in Rajasthan?

Choose the most approp_l;t;qte answer from the

options given below: ey
A Sik =

(A) ikar oN
(B) Bikaner N
o

(C) Karauli 1)
(D) Kota O

(E)  Question not altempl’ed
YEET ST TSI § el g4 22

o TRel & [ e | A
fr=fafad fasedi 4 & waifes sag e

(A) H N
(C) el
(D) T

(E) erdfta w4

JKL-Z10] =

\2// «Hamel” is an ornament worn by the Rajasthani

i
women around/on

Choose the most appr'_opriate answer from the
options given below: "

(A)  Neck ((B) Head

(C)  Ankles (D) Waist

(E)  Question not affcmpted

QU qEAT ST R

fereredt o A gaifere I9gwE 39 T4
zz rr?h . ‘®) fm
C

(D) =Ht
mﬁmw

© ‘
E) ol
Fromr which “Apabhrainsa” language, did the

Rajasthani language not'evolve?
Choose the most apbrépriate answer from the
options given below: ‘
(A) Magadhi Apabhramsa
(B) Shaurseni Apabliramsa
(C) Nagar Apabhraih$a
(D) Marugujari Ap?abl}ramsa
(E) Question not at}ptppted
TrorerTT STeT ST feRme forg atauder v &/ &

A R?
iﬁﬂléiiﬁﬁ ié%?diﬁ%‘ﬂ“ aiibas 303?5 3?!'(3\1::1'
(A) WTTER ST ‘,(B) TRET ST

(€) ATRIAWN (D) HRE TSR T

JBY ITARE W o

LZ/ The poetic text Whth d;:scnbcs the greatness of a

king, his conquests, wars and valour is called:
Choose the most appropriate answer from the
options given below:|s

(A) Prakas “(B) Veli

(C) Vigat : (D) Raso

(E)  Question not a‘ttcfnptcd

e hrey 1Y, ST forefl TSt <t weran, Sgeht fasm,
g 3T AT 7 qUI AT R, AT -
fr=fafaa faeeat ftﬁwﬁba:mm?ﬁ
(A) W 4!33 QFﬁ

©) fare (D) &Y

(E)  rgufa ws
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2/’/ The singing of Rasia accompanied by the playing
v of Nagada is associated with which type of

dance?

Choose the most appropriate answer from the

options given below:

(A) Bamrasia Dance

(B)  Ghoomar Dance

(C) Kalbeliya Dance

(D) Terahtali Dance

(E)  Question not attempted

TS o AT W MR foR Ty A il ¥
freferfae fasedt # & waffae Jugw s
Y e e

(B) TR

(C) wIafer I

(D) dTedTet I

(E) STgui@us

Name the first Chief Minister of the United State
of Greater Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Mohanlal Sukhadia
(B) Bhairon Singh Shekhawat
(C) Hira Lal Shastri
(D) Jai Narayan Vyas
(E)  Question not attempted
WO deq TSRUH YW & Yed eIl &1 am
9drs)
Feeferfir et & @ wrartfiras Jugen w0
(A) Hiedere gartsar
(B) ¥ foe yramad
wef d e
(D) S AU A
() orqaftayd

JKL-Z10

vZ‘)/ In which year was the Jaipur Praja Mandal
formed?

Choose the most appropriate answer from the
options given below:

%Haéﬁmgtmﬁgawmg‘m?

i few e forepedt # & wa@ 3uges 390 I
(A) 1934 By 1931

(©) 1932 (D) 1933

(E)  Question not attempted / 3?3?[1"?[ 9

\}ﬂ/ Where is the ICAR National Research Centre on
Camel located in India?
Choose the .most appropriate answer from the

options given below:

(A) Dungarpur (B) Jaipur

(C) Bikaner (D) Jodhpur

(E)  Question not attempted

I H 37TS T T TR HT UL iz AT 7 el
9 fera 22

frefafea fomedt # & waifas sugw o s:
(A)  FTRE (B) ¥y

4C) s (D) SR

(B)  3guia u

.3/ Which of the following is not a crossbreed cattle
strain?
Choose the most appropriate answer from the

options given below:

(A) Frieswal (B)  Sunandini
(C) Karan Swiss (D) Rathi Gir
(E) Qinestion not attempted
frferfaa & & ®-a warefy & s et 78 2
Frfafad famedt § & waffas soges sw T
(A) shrEare (B) _ gfeHt
© w@faw ) @ fin
(E) 3rgafa wy
7 [ Contd...



VJ/Z/\Vhich of the following is known as the milk city

of India? N

Choose the most appropriate answer from the
N\

options given below: O\
(A)  Gandhinagar l
{)
(B) Anand
(C) Asansol
(D) Durgapur S
(E)  Question not utlenifﬁ%d
- ()
Frfafaa = @ ford W g g wret (frek faed)
BT ST 87 N
. (Y .
frafafaa faeedt 3§ @ aaifas sugs SO TH:
(A) TR -
(B) 3mwig
NG
(©y e et
(D) i -
> (@]
(E)  3Tqafed o N
N

To see an enlarged imag_é}of the teeth, dentists

use-

T
Choose the most appro;;:lf'{'ate answer from the
-l

options given below: (7
(A) Kaleidoscope ?‘j
(B) Planc mirror o
(C) Convex mirror Lﬁ
(D) Concave mirror -
(E)  Question not altengted

afa o strafid gfdfes Sam e foe 2idt & St g

T foRAT STl 2- 2

frafafad famredi 4 9 IqGH I T
Ay eSO

(B) @wad g4 ‘g

(C) 3ac g4I

(D)  37qe g4l -

(E) Sgaita w4

JKL-Z10] ==

/

34

//’

With reference to the reflection of light. which of
< L)
the following statements are correct?
. ' - ~ .
a.  The light ray which strikes any surface, is
- i (N
called the incident'may.
. %9 -
b. The incident ray and the reflected ray. both
M -

are perpendicular.to each other.

The angle ofincidexjxce is always equal to the

(2]

angle of reflectiort:)’
d. The angle between,the normal and incident
. (
ray is called the a ngle of reflection.
I ‘J

Choose the most appmpriatc answer from the

. . \
options given below:

(A) aandc only st
(B) a,banddonly { 1’
(C) b,candd only N
N
(D) canddonly N
i)
(E)  Question not attempted

W%qrra?hémaﬁﬁ g g FE-arFaT g8

/W&Taﬁmsﬁmmwm%w
mmmﬁéu ,

b. mmaﬁ%ﬁﬁwm@apa
m‘sﬁ?ﬁ‘%l O

.c./anwaﬁvrﬁawaﬁwa%w%mg‘m%

(e quﬁmﬁ?m%rmm
aﬁwaﬁtraﬁwmé

ﬁﬁ?"ﬂﬁﬁfﬁﬁﬁﬁwmmgﬁl
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When light falls on a shiny surface its direction is
changed. This is called of light.
Choosce the most appropriate answer I‘rm\n the
options given below:
(A\)
(@) (D) dispersion
() Question notittempted
fordll SR T T WHIT T 39 8 9t 35
feerr ftafda @ STI‘EQI%I W Em
FEd Bl
ﬁqﬁ?ﬁﬁ et % mn‘fém TG IW T
(A) TR ) (W ~qada
(C) ¥uEdd (D) ufEuo (feaus)
(F) qaRa uw
Fai <

scattering (B)

reflection
retraction

C:)

Choose the most (.ﬂ{}pmpnatc answer from the

Bharatpur.

options given belo\a\i

(A) Badan Singh™) (B) Churaman
(C) RajaRam Q (D)  Surajmal
(E)  Question not anempted
W%mmﬁ%mﬁw%
ﬁ%mmﬁﬂ)ﬁwﬁmmaﬁl
(A) wefe N RRUE]

(€) T gj (D) TS

(E) 791 951 1y

Woman saint Dayﬂai was a disciple of

Choose the most appropriate answer from the
options given belay:

(A) Saint Ram Dis

(B) SaintRam @mran

(C) Saint Nirblga_xankar

(D) Saint ChargnDas

(E)  Question nbt httempted

i e zamané < o fere oft
fofefiad fasredi # @ walfae I9gw 90T
(A) waTHEE T

(B) Eda mmg

(C) @ ﬁm\s

(D) Hd 91 N

LBy st wC Y

Who was the founder of the Jat principality of

38

e
Which famous temple of Rajasthan became

representative of the “Haveh™ form of temple

architecture?
answer from the

Choose the most appropriate

options given below:

-

(A) 'l‘mnplc;ia\g Parsvanath

(B) N:llhd\\ti;‘;l temple

(C)  Pushkat Qmplc

(D)  Temple of Nilkanth Mahadev
et

(E) Qucslimtjnnt attempted

Wwa?((ﬁ?mmq&vmm;

NEniN wwiﬁ-ﬂﬁﬁxw.*

ﬁm%%ﬁﬁﬁﬁﬁwf‘wmww
(A) mim*amuﬁ«
By Wi“ﬁﬂ
(©) Wuﬁr
N
(D) Hieiehs @EeT & 9=t
N
(E)  guia gy
o
Mendel - performed  his  experiments  of

hybridization &
Choose the most appropriate answer from the

options given balow:

(A)  Sweet p&e\qj (B)  Albino mice
(©) l)msopt}f@l (D) Suntlower
(E) Qu;‘slimﬁml attempted
ﬁgaﬁmv@r%?w‘mﬁmmﬁmfr)

frafafiad et § @ waifes Iuge® AU

" ()
o) W EEE B od T
(©) gEifrdaN (D) e

(E) ugafw%x
o
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N4 Which of the following are the dominant traits for
sceds of garden pea plants?
Choosce the most appropriate answer from the

options given below:

(A)  Yellow and wrinkled

(B)  Green and wrinkled

(C)  Yellow and round

(D)  Green and round

(E)  Question not attempted

frafafaa 3 @ @m-a mda v &% Qi ¥ fisi
fera et cramor &2

Fntferfia e i @ wraffres Fwges a0 i
(A) e SR gifer

(B) &0 R Fifan

(C) e s M

®r T s
(E) Safaug
»lf/ Which of the following is nota law of inheritance?
Choose the most appropriate answer from the

options given below:

(A) Law of Dominance
(B) Law of Segregation
(C) Law of Independent Assortment
(D) Law of Dwarfness
(E)  Question not attempted
Frfetfira i @ - SRR 7 Fra 7 22
referfian fammedt i @ watfora sages a0 g:
(A)  gurfear = fam
(B) ggFw 1 fAam
Jey” wdF s19eged @l fram
(D) e & fram
(E) erafawd
JKL-Z10] =

\fJZ/ Match List-I with List-11
List-1
(Trait A)

lqist'll
(Contrasting
trait of Trait A)

a.  Axial position I.  Yellow
of flower

b.  White colour II. Terminal
of flower

c. Green colour of sced  11I. Round

d.  Wrinkled shape IV. Violet
of seed

-1 % wra g=h-11 1 frem ifsre-

eI ge-11

(Favraear A
@ faada fayraem)

(Frvraar A)

a. Tt Irefg Reufa L der
b. o & %G T I 3faeg
c. MTH BT L. e
d. fSFgherawe v, @

Choose the most appropriate answer from the
options given below:

et few e foreredt 3 & warffires 3ugv St 4]
«K) a-ILb-Ic-IV,d-II

B) a-ILb-Lc-I,d-1V
(©) a-I,b-Ilc-1V,d-1
(D) a-ILb-1V,c-1,d-III
(E)  Question not attempted / \'ﬂfﬁﬁﬁ oA

\43/ Where is the Mehrangarh fort situated in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B) Jodhpur

(C) Jaisalmer (D) Jalore

(E) Question not attempted

TSTEAT | HEUATG fohell et feere 29

Frfefaa faebedt & & watfae s swo:
ATETETS (B) g

(©) ST (®) ek

(E) SIuRawy

10 [ Contd...




Fhe Junaparh Tore s sitaanted fnowhich ety of

Al
Rajasthan?
Choose the most appropriate answer (rom the
options given below,
(A)Y  Bikaner () Jaap
() Kot ) Banmen
(1) Question not tttempted
Attt e s fsen fesra
frferfia faea v !l walfya sy am -U
(A) e ) s
(©) WA (D) s
(1) Srala ww,
48 Mention the date on, which the Princely State of

Bikaner formally lll{t sprated into the United State
( 9
of Rajasthan? .

Choose the mostiappropriate answer from the
options given belawg

(A) ST April 1948 (B) 7™ April 1949

(C) 8™ April 1044 (D) 7™ April 1948

(E)  Question not attempted

s fofa @ 9w, fifs s siwme il sy
aﬁwﬁawémmw&wfm%ﬁ#ﬂﬁ
T

ﬁn%ﬁaaﬁamﬁ‘ﬁﬁ waifas uge I
(A) 8 194;; (B) 7 3 1949
8 3T 1946/ (D) 7 310 1948

FafE vt ,)

\.,46/ Air rushes into the lungs of a human being during
gt

Choose the mml"d'f)pmpriau- answer from the
options given bclow

(E)

(A) Neither lll})sllﬂlloll nor exhalation
(B) Inhalation o\
(C)  Exhalation
(D) Both inhalation and exhalation
(E)  Question not ullunpltd
U A | aryg gl 0 At )
Frerferfiaa fasredt wﬁbmavwm]ﬁ
(A) A4l 3ia: w!w%ﬂtqﬁaf% e
) A ,‘::‘,'
() afewas
(D) @M 3ia: mr—! :lﬂ'( afe.ga4
(E) 3qarﬁaw,‘,\ )
Ki-z10] = "’

Mateh East-bwath st
FAst-1 (DIsense) At (Conusanl organism)

R
in I'rotozon
b Typhoid
¢ Malaein Il
do Rinpwormg 1V
el IL'A IR AREIERAIE
el @y apefean v i
i s
et (O 1 e
o, wafenr U faveqrop (o)
A a (o) v sferroy (i

Choose the most appropriate answer from the

Chicken pox |
I Fungi
Virus

Hacternn

i,
b,

options given l)g]u\\

Y fang vt ot ) aatfara o 34T T

(A)  a= IV, begllc - L d -1

V) SR T N A R T

() a-1V.b¥IL e -1 d -1

(D) a- 1B e v, d-

(') Question not attempted / 37t wu
u8  Sclectthe pml')lé:ms which are not caused through
polythene. )

a. Cause ]“'Ed!f in drainage system

b.  Cause of death of cattle

¢, Cause diseages like asthma and jaundice

d. Allow thd/rhin water to be absorbed in the
soil ()

¢.  Danger to fertility of soil

Choose the mn,r appropriate answer from the

options given b\.lm\

(A a,candeonly (B)  a dand e only
(€©)  banddiagly (D)  canddonly
(F)  Questidithot attempted
RERILISIRY D ‘j";!ﬂ S qiferefir & wreor TE et &)
A, Svare dfﬁ TN ST ST
b i EREERU
¢, oreymy INT e A Ay wr @
wb anf srer T araviiver @3 2
e fudy ey 3t & R wau

i f&u!l\ﬁzﬁﬁawvffhmmwﬁ
(A) A g, \)’ﬂ{ ¢ (B) &aera, d3Me

ey &.cmhpﬂm (D) &aet ¢ A d
(F)  sraftamry
(. ]
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In which city of Rajasthan is the “Desert Festival”
held every year?

Choose the most appropriate answer from the
options given below:

(B)
(D)

(A) Pokhran Jodhpur
©
(E)  Question not attempted
geeE F g ot # wfdad <meryd gEeda
SIRISCRERIESICIEY
Frefifan et § & warifires Suge 30T,
(A) SI@T (B) SEE

uey  SEER (D) =TSR

(E) uia v

Jaisalmer Barmer

Which Rajasthan city plays host to the Camel
Festival every year?

Choose the most appropriate answer from the
options given below:

(A) Jaisalmer (B) Jhunjhunu
(C) Sikar D)
(E)  Question not attempted

TS & FH-91 &K Yfaay 3¢ "aead &l
Fr=faiad fashedl § § daifae 3ug It I
(A) SEaEE (B) #FL

(C) ¥ & HFr

(E) a9 g

Bikaner

What is the predominant material used for men’s
clothing in Rajasthan, since times immemorial?
Choose the most appropriate answer from the
options given below:
(A) Silk

(C) Polyester (D)
(E)  Question not attempted

TSTEAT 1 T 8 & g afvar & fer forg wenm
T T IYATT H AT 1T 22

fFr=ferfad fasredt & & watfas ugw 30 94:
(a) forew @7

(C) difeuex (D) e

(E) 3yufta 94

(B) Cotton

Terricot

12

&

i ia digests animi aste and
527 Anacrobic bacteria digests animal waste

produces biogas (change-A). The biogas is then

(change-13). following

burnt as fuel The

statements pertain to these changes.
Choose the most appropriate answer from the

options given beloy:

(A) None of these processes is a chemical
change.

(B) Process-A is chemical change.

(C) Process-B is chemical change.

(D) Both process A and.B arc chemical
changes.

(E)  Question not attempted

STty ST 9] e w1 e A
I i # (FfEdT A)l foer A = 39T % =Y
T ST ST & (9frada B)1 e A 3 afteEd A |
grafer g

frafafea fasredi & & aaffies sugw 39 74

(A) 9 & FE off yFH GF TEEE 9fEd
EEE

(B) UfHAT-A Tk TETE qftad 2

(C) ufskar-B ua T gftadT 21

B ufsFar A 3R B 2T TETafteE e #)

(E) Agafayd

Which of the following statements are correct?

a. Physical changes are reversible and stable.

b. - Chemical changes are irreversible and stable.

c. Physical changes are reversible and unstable.

d. Chemical changes are irreversible and
unstable.

Choose the most appropriate answer from the
options given below:
(A)

aanddonly (B) aandb only

©) (D) candd only

(E)  Question not attempted
frafafiaa & & E9-8 o e ¥

a. \ﬁﬁfﬂ?qﬁaﬁwmﬁqw&mgﬁ%

b.  TrTafeh afterd rv-gemmvitr o fem 2 3
d. TRt aREd s siv sier a3,
ﬁmmﬁwﬁﬁ%wﬁbmmmgﬁ,
(A) FTasd  (B) Faerq siy

(C) #Fa@bsine (D) FHaet ¢ 3iR g
\(B)/Bﬁ?rﬂaw

b and c only
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' This non-metal is a good conductor of clectricity-

Choose the most appropriate answer from the

options given below:

(A)  Graphite

(B) Bromine

(C)  Sulphur

(D) Coal

(E) Ques(io-n not attempted

a g faege v e

frefafad faswedi 3§ & gaffae suges so
N

(B) wH=

(C) TH

(D) e

(E) i ws

/The metals that produce a sound upon striking a

LD

hard surface are said to be

Choose the most appropriate answer from the

options given below:

(A) Lustrous

(B) Malleable

(C) Sonorous

(D) Ductile

(E)  Question not attempted

4 91 <1 FSR FaE T TeR FH ¥ A 39
2, FEdrd -

e

56~ Which of the following physiographic features is

not found in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  Hadoti Plateaus

(B)  Aravali Mountains

(C)  Thar Desert

(D) Coromandel coast

(E)  Question not attempted

fFrafafaa § Fa-dr -3TeR{d TSI | T4 arft
EIGiky

frefetfiae fereredi & watfas sugw o
(A) EEM 9er
(B) 3Tt gdq
(C) O H&Eddd
D) FRmUS qe
(E) i@y

\87/Alluvial soil is found in which of the following

regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Western and southern part of Rajasthan
(B)  Northern and eastern part of Rajasthan
(C) Northern and western part of Rajasthan
(D)  Eastern and western part of Rajasthan
(E)  Question not attempted

et ST et ¥ e 32 e @ 3 e
2

Frferfaa faedt 3 & watfas sugw 3o * Frefefe et i & waifies suge s
(A) =HEA (A) TSI T ufarst aii afoft sy
(B) AmaTaasd (B)  TSTET o7 Iaidt 311 qeff g
wef enfrE (C)  TSREYT T Jadt T izt sy
) T «D) TSN T et 3T et sy
€ oo (E)  3rqufd us
JKL-ZIO] — 13 [ Contd...




Vss/‘Ghagghar plain is a sub region of which of the
following physiographic divisions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Easternplains region

(B) Western desert plain region

(C)  Aravalli région

(D) Semi- 'niid‘dry region

(E) Qucmon not attempted

TR & 9T qs{wm & forg sfimiferes fenirs =t

THIETR?

frafafea fawegl & @ waffas sggw sa T

AT gt ﬁaFﬁ &=

(B)  uf TeRwea AT a

(C) Iac e

(D) &Y 8

(E) mﬁﬁamr

Ly

Devendra Ihajfiaria who was elected as President,
Paralympic Commlttee of India for 2024-28 is
related to the spon of:

Choose the mast appropriate answer from the

v

options given below

(A) Long qup (B) Discus Throw

(C) Javelin Throw (D) High Jump

(E) Questio’n’. ot attempted

T FT YAIF i 2024-28 T GiAfT F TeAe
25 i e O ¥ g 22
mﬁmﬁﬁmﬁb&"mmaﬁ
(A) aﬁﬁ?@ﬁ: X feera ot

(C) ¥WeFE 4By Sl

(E) mﬁﬁwf

How many sedtsivere won by the leading pohtlcal
party in quaéfhan Assembly elections held in~
20232 -

Choose the most appropriate answer from the

o

options given bglow.

2023 | TsEard faarasn gAma 7 smvft aseifaen

za g Tt €2 Sfieft meff

ﬁmﬁf@aﬁﬁéwﬁwwmgﬁ

(A) 135,  (B)__129

(C) 108 1y ) 114

(E)  Questioti pot attempted / ITaRA 94
JKL-Z10] =

14

‘)/thn was Maharana Pratap crowned as king?

Choose the most appropriate answer from the

options given below:

(A) 28" February 1575
(B) 28" February 1572
(C) 28" February 1573
(D) 28" %cbmary 1574
(E) Quesuon not attempted
R0 u?ﬂq% TST % B9 H TSR] A HETAl?
et firedl o & watfarss 39w 39 T4
(A) 28 ®EL 1575
(B) 28 vstai’r 1572
ey 28 tmaﬁ 1573
(D) 28 rmaﬁ 1574
(E) rgafedwd
o
L0y

\,62/ Name the famous form of Rajasthan folk theatre.

Choose the most appropriate answer from the

options glven ‘below:

(A) Bhawal (B) Dashavta;
- (C)  Jatrd™ (D) Swang

(E) Que;t;;)n not attempted

TSTET o UHg e TTHE &l 19 Fa13Q)

Pttt fsredt & warffers sag S -
) AT (B) TEAR

(C) Smrd (D) =

(E) T ‘_’i o1

N

63/ In how man main groups has Dr. Grierson
divided thel}la_]astham dialects?

Choose thé-most appropriate answer from the

options given below:

<. w7 st Siferit wr ferae g W |
WM%’

ﬁﬁqwﬁm’r 94 78 Iuges SAUEA|
475 € ®) 2
© 3 ( *l
Te (D)
(E)  Question not attempted / 7aRa 4
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The oxygenated blood 1s transported from heart
to various organs of our body through-
Choose the most appropriate answer trom the

options given below:

(A)  Lymph

(B)  Arteries

(©)  Veins

(D) Both arteries and veins
(E)  Question not attempted

JTfieia TR g & TR ¥ ffrs ot & s
FIUSESIR IS IR

ﬁﬂ%@ﬁﬁﬁﬁﬁﬁﬁﬂgﬁmgﬁ:
A) oo

(B) uwiat

©) fomwent

(E) 7uRa us

\/65/ Which of the following are the parts of human

male reproductive system?

a. Uterus

b. Urethra

c. Prostate gland

d. Fallopian tubes

e. Vas deferens

Choose the most appropriate answer from the

options given below:

(A) bandeonly (B) a,bandeonly

(C) a.canddonly (D) b,candeonly

(E) ~ Question not attempted

frafafad & @ F19-97 9HE T YA @ 9 R
ra, TV

b. AT (g

¢ W uly
d. feaafea

€. IERATES _
e few wm fararedt @ walfae Iuge IO

(A) FaabsiRe (Bf &dda,b3iRe
(© Hawa,cidpy Feh, c e
(E)  3rgufta wa

Ki.z10] =

L68

Which of the following folk dance forms is more
popular in the Udaipur region of Rajasthan?
Choose the most appropriare answer from the

options given below:

(A) Dhol Dance (B) Bamrasia
(C) Kalbeliva (D) Bhawai
(E)  Question not attempted

TEH F IOQ &8 § FF-7 SF T9 JuF
RIREA
ﬁq%&aaﬁwiiéwi&amwﬁ‘

~>
~

(A ATTT (B) =l
(C) wFasfamr (DY wai
(E) IIuia o§

Name the Saka Kshatrapas who controlled the
popular tounst destinations of Pushkar?
Choose the most appropriate answer from the

options given below:

(A) Rudra Simha HI(B) Rudradaman I

(©) Yashodamanl (D) Nahapana

(E) Question not attempted

SH IS §AY F W 072 F61 T F S
Wi e =i e

fricie fawesi 2 & waifts svge s
(A) TRTIL - (B) I=mA1

(©) IORWAI (D) STRVET

V(E)/ ST TN

Rajasthan  E-waste management policy was
formed and invoked in Rajasthan in the year

Choose the maost appropriate answer from the
options given below:
Tseu $-3fe weaw Aifa w1 aEw 3 e
¥ | v mam
frefertia fawel F @ waifvs sugmw seoa:
(A) 2024 JB)Y™ 2021
(©) 2022 (D) 2023
(E)  Question not attempted / AR W
[ Contd...




W69 The difference between compound interest and

simple interest on a certain sum of money for 2
years at 4% interest per annum is ¥ 40, then the
sum of money is:

e ffera aaafit at 40, arfide sans Y @ 2 ani
1 ST R = S AT SIS T SR 40 &, Al
aE uegi

(A) i\g 18,000 (B) 20,000

(C) 925,000 (D) X 15,000

AN
(BT l\J,&)ucslion not attempted / 313311‘6 sy
] \
(=)

_](( A certain amount of money becomes thrice in 5

years<dt compound interest at a rate of 12% per

N
annuxg In how many years it will become 9 times

(-]

of itself?
(A) C
(©C) A2 Years

15 Years
10 Years

; Years (B)
(D)
(E) C-‘i‘)uestion not attempted
e T VR 12% Wi ad wshgfe s 6 X
S L, T STl 81 ey o O

‘(y/géaé B) 153§
(©) J2Td (D) loTd

(E) Y 3rafa v
Q

\]/ If the simple interest for 12 years be equal to 60%

oflh@rincipal, then in how many years will the
simp&*:jnlcrcsl will be equal to the principal?

(B)
(D)

(A) OB years 20 years

(C) (\i4 years 22 years
N
(E) fQuestion not attempted

afz (240t a1 ATl ST 36 YU 1 60% 2,
ar fore adl § @R S, [EUT & ST @

STy
(A) §83‘i wBy  20ad
(C) ¢34ad (D) 22a4

(F) €9 e
e

JKL-Z10) =
&)
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/I 1 v ~ . . s
7277 Which city of Rajasthan was nominated (as on

September, 2024) for Wetland City Accreditation
(WCA)?

Choose the most appropriate answer from the
options given below:

(A)
(©)
(E)  Question nol‘x.;_t‘sunpl.ul

forrferfiara % & wereeng @t A e aects fwd
ufsrfeder (WCA) Rl i (fadam 2024 a6 *
3t fopa mmar 2 f:

Fr=fefiaa fraredt fa,aatfiras Jage 300 T4:
(A) et celsy S

(C) Mg <H(D) IAY

(B)  orfa us ('_‘;

In which year did l@}a‘s Prime Minister launch

(B)  Jaipur

.y »
. ‘.(I)) Udaipur

Jaisalmer

Jodhpur

the 5G services? o

Choose the most agpropriate answer from the
options given below:-

(A) 2022 (B) 2019

(C) 2020 <) 2021

(E) Question notsﬁ.t't‘cmpted

oI 35 Tt X f a5 it 1 g
e N

2022 % @) 20197
© 2020% o 2021%

(E)  Iraia W

. = i A
In financial year 2%’3, 179 million domestic
tourists and 1.7 rligion international tourists
visited Rajasthan. Thegontribution of'the tourism

sector to the state GDP is approximately:

. Choose the most dﬁﬁropriatc answer from the

options given bclo“‘;n

forer and 2023 F qroreetr & 17.9 G HIe] Wik quT
17 e fordeft wefess groreum 31 wied & Usg &
HeheT HYe] IeTE 3 ST AN LT R
frfcife forereat ¥ Y garffre sugw 3w o3:

‘(rﬂ/‘ 15% O(B) 8%

(©)  10% N(D) 12%

(E)  Question notatgempted / 3Tafd 521
L0 [ Contd...
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For feeding cattle, goat and sheep, which of the
following is‘are not used as fodder crop(s)?
a. Maize
b. Legumes
c. Cotton
d. Rice -
e. Barley
Choose the most appmpria}q';answcr from the
options given below: o
(A) bonly (B) ';i and e only
(C) banddonly e Bnlv
(E)  Question not anemptcd
frefafes 9 & 59 wafiml, TR 39 < few
=R w & s T e SR
a. HFHT o
b. wiat N
‘/( FUTS (:"\J
N
L. 9H Ty
e. S (=)
I few e fasreat ﬁéwaiﬁra:amm el
(A) FaAb B) 3@8 a3fRe
(C) FFAbIId (D) FadAc
(E) SFaRa v iii

\Jli/ Which of the following is® uiue about CARI-

SONALI?
Lo

Choose the most appropriatesanswer from the
options given below:

(A) Commercially Brown egg laying chicken
(B)  Dual Purpose Chicken,;;

(C) Commercial Broiler Ch'iéken

(D) Commercially White é’(gé’ laying chicken
(E)

Question not attempted:, J

frafafaa & | 34 - gEret (CARI-SONALI) &
AN H T G 87 =

fr=fafaa faeredl # @ aaifas Iugw I H:

oty A
(C) aforfeads sie fae oy

(D) mﬁﬁmmwiﬂ‘a@ﬁm
(E)  srgafa wa u)
JKL~Z10] e o
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If

In how many phases was the election of the

Rajasthan Legislative Assembly 2023 held?

Choose the most appropriate answer from the

oplmm given below.

e favmren % fo T 2023ﬁ—<1=r—mnq
st fwu mr |

frfafiaa fasred § & waffas 3ugs :maj
(A) 03 =2,

55 0l

© 02 .
(D) 04 o
(E)  Question not attempted / JITARA T4

Who among the following has NEVER (as on

September, 2024) been the chief;Minister of

Rajasthan?

Choose the most appropriate answer from the

options given below. 1

(A" ‘Bhliron Singh Shekhawat 1)

(B) Diya Kumari |

(C)  Ashok Gehlot ).

(D) Haridev Joshi ‘

(E)  Question not attempted \]

frer 5 & e it oft (e, 2024 a5 % s1Emw)
TR @ A @R ,
frefafiaa fawed 3 @ waffies sugw se T
(A) W e raraa
Wi e

(C) 3 Tedd

(D)  wfga seft &

(E)  orqafa wy L :

- ‘[ Contd



Mccording to the modified budget 2024-25 of

Rajasthan, how many rural houscholds will

receive drinking  water under “Jal Jeevan

Mission™?
Choose the most appropriate answer from the
options given below.

(A) 27 Lac

(B) 21 Lac
(C) 15Lac
(D) 25Lac

(E)  Question not attempted
TSI F qftafda 79 2024-25 F SHER e
St faerr F sdata fora onfior ot 4 T & e

TESTH F AT 22

Frerfian famedt & warfires s o0 i
w©K) 27
'®) 217

(C) 15@m@

(D) 25@m@

(E) HAmiau=

\,80/ Which of the following geographical terms is
associated with the climate of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)  Kaal Vaishakh

(B) Aamra Varsha

(C) Mavath

(D) Phoolon ki Bouchhar

(E)  Question not attempted

famfataa 9 #E-d1 dmfas Tezrae teueam §

Hefarg @ Hafad 27
Ftferfiaa Faeedi wrrtferes g s i
(A) e 3
(B) smmadi
I IEC]

(D) it #1 AITT
(E) Hgafa w4

{}I/Most of the part of Rajasthan state cOmes under
which of the following climate zones?
Choose the most appropriate answer from the
options given below:
(A) Tundra climate zone
(B) Equatorial climate zone
(C) Temperate climate zone
(D) Polar climate zone
(E)  Question not attempted
T e =1 At 9 e § 3 e

(C) framm saag &5
(D) g =g @
(E) SFAEiay4

\.82/ Which of the following rivers is not associated
with the Inland drainage system of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Banas (B) Kantli

(C) Mantha (D) Kakni

(E) Question not attempted
frefafes & & F-8t 73 Toem ¥ s

SIYETE oF | Heitod T8t 20
ﬁt{%ﬁaaﬁmiﬁéwaﬁbmwgmmgﬁ;
(A) =™ B Fiaet

1 (C)  war (D) FrEA

(E) iafaws

83" Which of the following lakes is situated in
Rajasthan?
(A) Lonar lake

(B) Nokuchiya lake
(C)  Pichola lake

(D) Koleru lake
(E)  Question not attempted

ﬁtri‘aﬁ:qat‘iitﬁzmsﬁamnﬁfinmi??
L L (B) e it
(E)  o1qafa uy

£ [ Contd...
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SJ/Milk sugar is called:

Choose the most appropriate answer from the
options given below:

(A) Sucrose (B) Maltose
(C) Lactose (D)  Fructose
(E)  Question not attempted eyt
T T F FEd 8 o

Freeffin et 4 raffiras St S0 T

w1 gEE (B) niz‘-!,fra
(C) === D) % ,
(E) Suiayd o

\,85/ Match List-I with List-II:

JKL-Z10]

ListIl

List-I

a. Gujjar Bakarwals L rashtra

b. Gaddi II. Ja{ngm and Kashmir
c. Raikas III. Himachal Pradesh
d. Dhangars IV. Rajabthan

T F g - nmﬁaﬂaﬁﬁq

-1 uéf-n

2. TS FFET L

b. TE IL at;frg'sﬂtastﬁt
c. TEE 1. fed=e wen

d. 99

V. T

Choose the most appropriate;answer from the
options given below: ™~
= few e et 7 & wraiferes Sages 3wl

(A) a-HLb-IV,c-I,d-HC)
(B) a-Lb-ILec-I,d-IV

3-ILb-m,C-IV,d-Iq,
(D) a-lI,b-I,c-W,d-III:}'
(E)

Question not attempted f3Tafta w4
N

Maru Raikas settlements are cdlléd:

Choose the most approprtate(\allswer from the
options given below:

(A) Basti Ié]:())o
(C) Bhabar (D) Dhand;i
(E)  Question not attempted ““I*
UTE T F FarE T e B
ﬁnﬁﬁaﬁwﬁﬁﬁnﬁq@mmgﬁ:
(A) = (B), I
(C) W=t Q‘I{ L]
(E) = gufa w4 e
— o

19

,)7/ From the following physical regions of Rajasthan,

which region shares its boundary with Pakistan?
Choose the most appropriate answer from the

options given below:

(A)  Western Desert Plain Region
(B) South Eastern Platcau"ﬂ'cgiun
(C)  Aravalli Region :";

(D)  Eastern plain Region (M|

(E)  Question not attempu:‘a

- P Ve Ll“ ~ o e e =
T F fafataa qa%w (JTF19%) 441 5 3

frefafan faredt & & maifas zo7s o =2
AT e e B
(B) zf@w oHi 92rm 47 N
(C) s & ”
(D) &1 ATET & (0
(E) ieiea o ©
—~h

-~

Which of the following regions does not receive
irrigation water from the Jakhim dam project of

(Y]
Rajasthan?

3
Choose the most appropriafel answer from the
ti 1 belo L)
options given w:
(o
(A) Pratapgarh
(B) Chittorgarh >
(C)  Udaipur <
(D) Bikaner o
\
(E) Question not attemple‘(qi
frafafaa & teeam &1 FEET a7 SmEw aiy
s [
aftior & fe STt T T T 2
ﬁﬂﬁlﬁﬁm"ﬁéwﬁmmo IT T
(A) Hd9TE et
B) fademg <
o=
(€) 3T N
\(ﬂ( EICaCTs N
N
(E) 313?1'1?1 e )
() [ Contd...
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vt (\x
Internal fertihisation does not occur in:
answer {rom the

Choose the most appropriate

options given below:

&2/ The selling price of 10 articles is equal to cost
‘

B 1 7 S OTCe v ol S1
price of 12 articles. The percentage gain or loss in

this transaction is:

2 S % gain
(AY  llens (B)  Cows (A) ”‘j‘"" loss  (B) 20 (;2’
. B =% loss
() Dogs (D) lfl'\\)"s (C) 20% loss (D) 3 3 %o
(1) Question not attempted () Question not attempted

fr=ferfaa ¥ @ e sia. A 9@ fan
fafafaa aen ¥ @ gaffas TG IR -

10 aqail 1 s gt 12 Tt & T 0o ¥
ST R 3 -3 F AT 32T g1 21 Tfaora 2

NES i o (B) TR Y (A) 16 %"n gt (B)  20% &9

: L : 1 L,
(©)  Fard (D) Ve A (©)  20%wf (D) 333% ®H
() Sai@ ws ‘(/u/aﬂﬁﬁﬁ u4

Deficiency of which of the following causes
cracked feet in poultry?
Choose the most appropriate answer from the

options given below:

);9/

Amit deposited T 2500 each on 13 January and |*
July of a year in a bank which offered 8%
compound interest compounded half yearly. The

interest earned by Amit at the end of the year

was:

(A) Vitamin D (B) Magnesium i ¥ v % 97 T 2500 el SHad qur TR
(€)  Zinc (D) Biotin S[TS 1 Teh Sk 8 ST foa S 8% whafy =
(E)  Question not attempted 3T ® 3R =T <X BT AT 7 At ) a9 F

frferfaa 3 & forad Feft Fase § W wet (Fa 37 ¥ 1foa = wry ST R @ oft-

1) 1 H 82 (A) %308 ,QB’/? 306

=it fammedi & & aaffaes suges s T: (©) %300 (D) %304

(A) faafm D (B)  AifrEm (E)  Question not attempted / Hﬂﬂﬁﬁ 4
51(4/ 5= (D)  aEEH

(E) 313?1:{?1&1%{ % While doing a calculation a quantity is wrongly

\91/']'hrcc numbers are in the ratio of 3:4:5 and their

L.C.M is 960, then the sum of these numbers is:

mmﬁ3:4:5%w§mﬁﬁmmm

multiplied by % instead of -g— By what
percentage the answer will differ from the actual

answer?

qmwmﬁwwmmﬁwﬁﬁ—
-S‘a'ran ﬁmﬁm%naﬁfﬁmmﬁmm

qHEda 960 B, a1 5 TS # i
wﬁmmuﬁmmﬁm'@mw
‘/K) 240 (B) 144 5
g A 1715% (B) 1662 $%
C) 192 80 . L
(©) © 1775% (D) 1603 %
") »qly { v t v 1
(E)  Question not attempted / 31gsfra wx \-—(-If)/Qucsuon not attempted / 314 9%
JKL-Z10] = 20
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Ravi covered a distance of 2 km with a certain

=
speed. By what percentage he should increase his
speed so that the time taken by him to cover the

same distance is reduced by 25%"9

r{%@ﬁfaﬁwﬁzmaﬁaﬁmm%lzﬁ

T T FA | I 25% 9 gy o
(A) 33+ B)  25%
(C) 20% (D) 16—%

\/«/E( Question not attempted / AR w1

)o/ The average runs scored by a batsman in 9 innings
is 55. How many runs he should score in 10th

innings  so that his average runs scored

become 65?
T SeoiaTst g0 9 WREt & 3ige 55 T 9987 S
2l 1037 91 5 7% fohem & 510 foF 309 & a7 afrae

65 B ST

(A) 165 (B) 155
JQ’)/16O (D) 145

(E)  Question nof attempted / H@ﬁﬁ?‘r 94

L.CMof2.4,0.36and 1.08 is:

2.4,0. 36 3 1.08 F1 AT HATIIAF 2:
(A) 21.6 (B) 0.36

(C) 2592 (D) 10.8
«{Queslion not attempted / &’:{)ﬁffﬁ 94

d

’\,9( The smallest 5 digit number which is exactly
'1\ divisible by 6, 7 and 8 is:
5 st &1 #ag T @@ S 6, 7 3 g § gufa:
“(A) 10056 (B) _/1%(:1 |
‘)C)/ 10168 (D) 10
(E)  Question not attempted / 3

KL.710) =

A

\‘))/ Scema invested T 5000 each in two different
banks at simple interest for 2 years, The difference
between the simple interest received from these
two banks is ¥ 8. What is the difference in the rate
of interest of these two banks?

" 3 2 SAem-gem A @ uerE @ 7 5000 5
STH AT ST 1 AT 2 § 21 29 2141 951 % =14

(A)  1.2% (B) 0.8%
(C)  0.08% (D)  0.4%

Question not attempted / 597 54
\)BO/Approximatc age of sexual maturity of a buffalo-
bull is:

Choose the most appropriate answer from the
options given below:

(A) 22 months (B) 15 months
(C) 38 months (D) 28 months
(E)  Question not attempted

Hie-48 1 AT afraaaar £1 st wm o0 2.
ﬁqmaﬁmunmfmm—wa*
UAT 22 oEH

(B) 15°%=
(C) 389EH (D) 287
(E) sigafd g

J81/Which of the following statements is incorrect?
Choose the most appropriate answer from the
options given below:

5 ;ojfgc:

(A) = Metal oxides are basic in nature.

(B) * Almost all metals combine with oxygen to
form metal oxides.

(C)  Most metal oxides are soluble in water.

(D) Metals react with water and produce a
metal oxide and hydrogen gas.

(E)  Question not attempted

Frefefaa & & #van @uw weg 747 20

frafefead fasedt & & gaffis IUGH 3T A

(A) 9T & STHTSE U 1 amrérg vy 3)

(B) Wr\mmﬂuqnmma sttt ava
a1q & STTFHTEE T 3

ACr  sifagan aTST % g e 6 TAITe

eI 8

(D) urgumaﬂfuﬁmnmamxmr
SHHIEE a1 w182t g Iq~ FTAT B

(E)  safa wg

2 (e

| Contd...
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uAlcct the incorrect statement with reference to

metals.
Choose the most appropriate answer from the
options given below:

(A) Bromine is a very rare metal.

(B)  Gallium melts when kept on a palm.

(©) deium is so sofl that it can be cut with a
knife.

(D) Mércur_v is liquid at room temperature.

(E)  Quéstion not attempted

aTq3Tl & e § 3| Fu w1 T hifere i e T
2l )

ﬁmﬁaf@aﬁmﬁéwﬁaa;mmzﬁ
(A) S T get uTg R
(B) ﬁﬁv‘maﬁt—ﬁwr@ﬁ%ﬁqaam%l
(© a‘rf‘zwmaﬁzﬁm%%sﬁw%mm
) Heher 2
(D) 9T (W) T A WA

BaT Rl

(E) aa:?rfi—crw

,Jﬂ/ Concave mirrors are used in-

a. A torgh

b. Side mirror of vehicles

o Hea.djights of vehicles

d. Solajllnh;éookers

Choose(the most appropriate answer from the
options/given below:

(A) bandc only

(B) a,bandconly

(©) b’_,’ﬁ,and d only

(D) a,c.andd only

(E)  Question not attempted
AT YT T IYFTT ForaT A & -
a. EH!

B, AT W (aree) o

& Tt B v i

d. mrmﬂ
ﬁammﬁmﬁﬁmﬁmmwﬁl
(A) 'Qb'_cl"?béﬁ“(c

(B) ﬁ’a a, b3l ¢

(C) W b, ¢ 3 d

(D) %;E[a a, c 3Md

® SR

JKL- 210 ] =

)
by

22

104

105

“Goga Navami” is celebrated all over Rajasthan

in memory of:

Choose the most appropriate answer from the

options given below:

(A) Dcvp_arayanji (B) Tejaji
(©) Goglfi (D)  Pabuji
(E) Qu:eséion not attempted
o o H feREhl T B T T T
L
frffaa fepedt & & waffare I9gw 30 .
(A) FETERT(B) A
(©) i (D) wwh
(B) T v
o

Which of 'Jthe following is not an example of a
53
chemical change?

Choose the’ most appropriate answer from the

options gfv:n below:

(Aj Bu{rrln{ng of magnesium ribbon
B) Rustlng of iron

©) Foi’rﬁg;tion of curd

(D) Crystallization

(E) Quésiiion not attempted

ﬁﬂ%%aﬁﬁﬁq-mwaﬁmwﬁaﬁ?mm
e

(NS

Feaferfa e o & wrarfres guges s
(A) Al fem w6 sremr

(B) e & Sy sy

(©) Hﬁ%rrmm

(D) foretiar

(E)
[ Contd..-




10¢ To prevent
\

107

v

-

rusting galvanised iron pipes are
caated with:

~ the

Choose the most appropriate answer from the

options given below:

(A) Nickel (B) Copper

(©) Zinc (D) Manganese

{E)  Question not attempted

e A MFT i AR F e S ST d T

Fr=iatan fowesi 3 & waiffirs suges o T
A e (B) dTH/diET

o 5= (D) ==

(E) mw

The Indian Wildlife (Protection) Act was

implemented in:

Choose the most appropriate answer from the

options given below:

(A) 1981 (B) 1968

© 1972 (D) 1976

(E)  Question not attempted

I TE ST (ETE) SIRIERLES I BAT T

ﬁw%ﬁaaﬁm‘ﬁéwf&a;wgmwgﬁ:
_/(A1/1981 T (B) 1968

(© 1972% (D) 1976%

(E) SFqufa wx

\,W(T‘he source book which keeps a record of all the

endangered plants and animals is called:
Choose the most appropriate answer from the
options given below:

(A) Black Data Book

(B) Red Data Book

(C)  White Data Book

(D) Yellow Data Book

(E)  Question not attempted

I |id Iia (|iE 99) forad aft dererg= gt
3R STt 1 ST ST T ST 8, Feerd @

Frafafaa fasedt #§ @ waifas sugw o

(A) AT TRITF EIRTE

(C) =wReeRIg® (D) AclSRIgH

(E) 3{afa g
JKL-Z10] =

23

).‘f9/‘v‘v'hich of the following statements is correct

about the red yellow soil in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A)  This soil is formed by the fission of granite
schist and gnesis rocks.

(B)  This soil is found in Bikaner and Barmer
area,

(C)  This soil has enough quantity of lime and
nitrogen.

(D) It is not suitable for the farming of
groundnut and cotton.

(E)  Question not attempted

TSAT | o1 ieft 721 3 wara § et 4 4
F-TT F97 T 27

mﬁmﬁ@wﬁmmwgﬁ:

(A)  =TeHa e IH1gE qar Fr w2 F famve
EECikd

(B % HaT SR S AT 4 i et e 2)

(C) ST H watH AT & =7 391 22 w2

(D) %Mmmﬁ@ﬁ%f‘mm

& Bre

(E) Y7dfia g

lI,M)/According to the Census of 2011 which of the

following districts of Rajasthan had the highest
literacy rate?

Choose the most appropriate answer from the

options given below:

(A) Udaipur (B) Barmer

(C) Kota (D)  Ajmer

(E)  Question not attempted

2011 2 SFITOIT 3 ST TR 3 Freffa if
@ formr 51t Y wmamar av watfis oy

Freafefere frareci f & eraffires swges w0
(A) TR (B) g

(©) e AD) i

(E)  rgafa wsr

| Contd...




\/}’( Which of the following census years had recorded yﬂ/which of the following are the parts 0 the hum...

the highest sex ratio in Rajasthan? excretory system?
Choose the most appropriate answer from the a. Ureter b. Kidneys
options givcp below: c. Green glands d. Urethra
ﬁﬁﬁ'ﬁf@ﬁ 94 form o 1 ST F s e Ur.i%'ary bladder
Wwﬁ%ﬂw> Choose=the most appropriate answer from i,
éﬁ?‘ff ° ¥ gaifas 3Iggh I a:; oplion%cg?iven below:

201 1‘ ) (A) 5(‘\5& c and d only
(B) 1971 (B) 4%, dandeonly
(©) 198@; (€) 5= dundicionly
(D) 20012 (D) 4B, dand e only

N <

(E) Quemon not attempted / maﬂ?rm (E) Q_t’x,estion not attempted
N Wﬁ@ﬁ-ﬁmmﬁ?mé?

L0
\I/I/Z/Arrange the following organs of respiratory b. I
1 < .
system of human bemgs In a proper sequence in £ lﬂ'{gﬁlﬂl d. HAHTI
b

order of lhqy; occurrence:

a. Trach%é:; b. Alveoli ﬁﬁq*ﬁﬁmnawﬁf‘wmw g:
C. Larynx\| d. Nasal cavity (A) %-T:l?f a, b, c 3 d
€. Bronc:li\i;} &E{ ﬁlﬁ_” F=c=d e
fFrafafaat3im = ama i a99 gonet § ST (C) Fddb,c,d3Me
feorfer ST el s 3 srafierd AT (D) %gaa, b,d 3 e
a.  ATEetl! b. i (e (E) AT w4

=r
. i~ o TS \1,14/ For ar‘l::‘igcial insemination frozen semen 13
. Sﬁa;é) preserved at in liquid nitrogen.

S E— :

Choose lhe. nost appropriate answer from the 3
N PProp Choosethe most appropriate answer from the

options nve?l below:
P & = opnonsl(‘}*lven below:

v o e e & vt e e g aﬁwn{fpn%%qﬁmﬁﬁaﬁmﬁw
(A) d,asgc,b T gffare fomam smar 2
(B) a c;}g be mﬁmwawﬁﬁmmm‘ﬂ:

© d, O%’ﬂieb (A) 360 W 104 C
\/(D’/ e\] (©) £LNoec (D) -160°C

(E) Qui‘jon not attempted / 37T w4 (E) @c:gestion not attempted / TId T
JKL-Z10] = 24 g [ Contd.-




}Al”\ is deficient in :a

Choose the most appropriate cainswer from the

options given below: N

(A) Calcium (B)  Vitalin A

(C) Iron (D) Va‘!mn B,

(E)  Question not attempted |, o)

mﬁ Eﬁtﬁﬁ?ﬁ%l
ﬁmﬁfaaﬁmﬁéwffhmmaﬁ
(A) Hfcaad B)  fafm A

(©) e @)y ﬁzg'%qw

(E) FFaia ug

u,t/Farmmﬂ that combines crop rprbduchon with
livestock raising is called: N
Choose the most appropriate anlwcr from the
options given below:

(A) Jhoom farming

(B) Mixed farming :,;:
(C) Dairy farming -
(D) Mosaic farming N
(E)  Question not attempted N\
T IEAE ST T GIeH, ST S ETeh St
FEd B m
frafafaa fasreai g @ waﬁbvﬁmaﬁriﬁ
(A) FHEA <t
l/(.B‘)/ ﬁﬁﬁ@?ﬁ' (frree “Fﬁﬁq)‘kdi
(C) == i ()
(D) HISe R N
(E) rafa g N

N
A shopkeeper marked the pxups; of an article
which is 20% more than its cost price. He sells
the article at a discount of 15%. What is his

percentage gain or loss?

Tt
(A) 3%loss (B) 5‘.’<J;,am
(C) 2% gain (D) 3%gain
(E)  Question not attempted N\
0\ e
U GG U ] 1 e FAT & 51 3Tk

FI g ° 20% aﬁﬁmazzﬁ, N 15% T2
@gnmaaamﬂmmwggmﬁmuﬁm
T 22

(A) 3%ef BT 5% ™
(C) 2%<mv (D) 3%
(E) STqufa 94

JKL-710] =

.Hﬂ/Wlml is the principal amount \\Imh carns ¥ 2420
as compound interest for sccunq year at a rate of
10% per annum? f —;
10% wfet ad ot a1 & ey and - ?Nrﬁz 2420 “ehafa
TS o &9 H T AT &, ger 0

¥y
(A) 222,000 KB 230,000
(C) * T 18,000 (D)  T24,000
(E)  Question not attempted / |§ﬂﬂf{?l asr

< i)
(1 |9/ An amount o T 4800 is to be élm\nhulul amongst

A, B and C in such a way llml ilu. share of A is
40% more than the share of l{dfl(l the share of C
is 20% less than the share of B[ The share ot *I3°
is:

% 4800 Y THA Y A, B 3 C ‘%«ﬁ-: W Al
STt & o A o1 wmT n%ﬁumﬁw% atfurh & qur ¢
31 9T B # 20% 7 21 B Eﬁr‘é’lfi?.

(A) 3200 (B)  ®1500
LY

(C) Z2100 o g.i 200

(E)  Question not attempted / Cﬂgﬁf{a a4
i

gt
‘—I’Z/Asop forest block’ in Slmhpum Rajasthan is
developed asa conservation résdrve for

N .
Choose the most approprlag(;‘:m.\'\vcr from the

options given below: L0

(A) Tiger B)  ‘Cimel

(C) Black Buck (D) Peacock

(E)  Question not dllunpud5
"THIY B Seileh’ AR, mmu _ %
Hrvr frstd (@oraer frord) s i frenfae faar
TR l\i

frrferfaa fereredt § @ warffae suge 0 4.
(A mmEdn () e

AT WETE (D) wn

25

()

ST w4
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-/l{\\’hich of the following are the main causes of

28

deforestation ?

a.  Building houses and factories

b.  Using land for cultivation

c. Conservation of wildlife

d. Making furniture

e. Toimprove soil quality

Choose the most appropriate answer from the
options given below:

(A) a,banddonly (B)
(C) b,canddonly (D)
(E)  Question not attempted

a, band c only
a, b and e only

Frtfeifiaa & & e & $7-89-8 7o Fw
&

a. = 3R FHH@HE 7 fmtor

b. &t & fou st =7y

c. TISEl T G

d. wH= T & fog

e. T % TUrEET § gUR F forg
ﬁa%qnqﬁmﬁ%waf&a;mwaﬁ

(A) Fada,b3d (B) Facia,baiiec
[Sy Faab,c3d (D) Faeta, b3ite
(E) 3qaiau="

Which of the following is an artificial setting for
protection of wild animals?

Choose the most appropriate answer from the
options given below:

(A)  Wildlife Sanctuary

(B) National Park

(C) Biosphere Reserve

(D) Zoo

(E)  Question not attempted

FAAET F w3 fau fafafaa § § Swed
o afim 3

ﬁm%f@aﬁwcﬁnﬂmffba;mmgﬁ
(A) T2 spqamog

(B) U 3am

(D) fafearm

(B) oHfa g

JKL-Z10] =

M:&/ Arrange the following districts of Rajasthap in

descending order according to population dcnsity
in 2011 census?

a. Bharatpur

b. Jaipur

c. Ajmer

d. Alwar

e % fafafaa fret #2011 $i s s
IR T STEHEI 9T & TR ST 7y 5
sraftyq i)

a
b. S
c. ST
d. 3t

Choose the most appropriate answer from the

options given below:

ﬁ%ﬁqnﬁf&mﬁﬁﬁwﬁaﬁmww
(A) a,b,c,d
(B) b,a,c,d
(C) b,d,a,c

UPJ b,ad,c

(E)  Question not attempted / Nﬂﬁﬁﬁ g

m/Which of the following soil is found in western

Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Red and yellow soil
(B) Mix red and black soil
(C) Alluvial soil
(D) Desert soil
(E)  Question not attempted
frerferfia o e-eft st afbndt arorar § arf s
8?
Frefafee fraredt i & aatfie soge 30T
(A) Tt 3T ofieft gar
By Tl wtrer i et gan
(C)  reirg ¥
(D) weEyeRy et
(B) 3rgufa war

[ Contd...
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\126 Which of the following is not 5‘\iiral dise

~

Which of the following diseases cannot  be
prevented by using vaccine?

/

Choose the most appropriate answer from the
options given below:

(A)  Tuberculosis (T.B.)
(B)  Small-pox
(C)  Hepatius
(D) Scurvy
(E)  Question not attempted
Freafefad 3 & fr 1 a1 dwie ar e
forar st g 0
ﬁwf‘aﬁaaﬁm}ﬁ&waf&a;mmaﬁ
(A TRF(TB) B) Juw
(D) &t
‘%E}:/ ARG W |

sease?

Choose the most appropriate answer from the
options given below:

(A) Typhoid (B)  Chicken pox

(C)  Measles (D) Polio

(E)  Question not anemp‘ted <

e 8 & -8 o formoy @) it o e 2
ﬁqﬁ«rﬁaaf%zmxﬁéwaf&a;mmaﬁ

TTHEE (B) f%ﬁr-mm
(C) @Eq (D) wiferar
(E) Si3aRa ww s
1 Who is the goalkeeper fqr iteam ‘Hockey

Rajasthan’ for 14® Hockey Indla Junior Men’s
National Championship 20247 *

Choose the mosrt appropnate answer from the
options given below. ’:

(A) Meraj

(B)  Himanshu Kumar Sharma

(C) Lovish =3

(D)  Anurag Suthar c

(E)  Question not attempted*

14a‘7?raﬁsfgmaﬁmwm%ﬁmﬁm 2024 %
i € T 3 M aﬁ: &

fFrefeafag fasedi @4 waff‘ua;m I H:
(A) T

(B)  feigy e it

(C) fam
UBY ST g

(B)  gafaus

JKL-710] =

21

-

/

l.8 What was the ranking of India in Pam Olympics

2024 Medals Tally?

Choose the most appropriate :ms“ er from the
options given below:

(A) 72nd (B) 69t ;
(C) 70 (D)  713ip
(E)  Question not attempted

m*-&ﬁﬂa:’ﬁaﬁ?akmm%wnm?ﬂwn
E2 1K)

ﬁn%%a%mﬁ&mﬁhmww
(A) 729t (B) 693t
(©) 70 eby 71ah
(B) ufa wa o

(@Y

129/Who among the following presented the Annual

Budget, for the Government of Rajﬁslhlln in July,
20247

Choose the most appropriate answer from the
options given below:

'

'

(A)  Shri Gajendra Singh Khinwsar (Khimsar)
(B)  Shri Kirodi Lal Meena 4
(C)  Shri Prem Chand Bam\a i
(D) Smt. Diya Kumari !
)

Question not anempted
ﬁwﬁﬁ%a%rsfaﬂé ’0’4¥TT@?~TFTFW”T
mﬁmmm%mﬂ

ﬁﬂ%ﬁaaﬁﬁﬁﬁwaf&smmw

(A) =Rt R Reaer Ramany

By it iRt | e o (s}

() srumS<aaEr N

(D) sfiwreft feram urd (N

(E) 3rwf wa :"
\laﬂ/ccordmL to the modified bué;é 2024-25 of

Rajasthan, what amount in Rupees ¢
interest payment? s

goes towards

o <h ~
Choose the most appropriate answer from the
. . D |
options given below.

R
(A) %007 (B) 210,92
© 1712 (D) T892
(E)  Question not attempted 1N

TSR & gfafda a9 2024- 25 & STTAR S 1
STt ¥ forda v sy 20
ﬁw%fﬁaﬁaﬁﬁﬁwaﬂammmm
dAT R 0.07 (B) %1092

€ 2172 (D) T 8.92

(E)  3¥qefia wa
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LRI

Which of the following state has been paired with
Rajasthan under the “EK Bharat Shreshta Bharat™
scheme of povernment of Indin?
Choose the most appropriate answer from the
options given below,
(A) Jharkhand () Manipur
(C)  Telangana (D)  Assam
(1) Question not attempted
VI TR & TR U I A8 e & did
= 1) werea &1 SRR us e ar
A9 faw o fewenl # 4 wa guges 3w
(A ETEeE (B)  wforq
(C)  dchmAr (D) 314m
(F)  3rqaft@ wa

e

A2 The™

located in:-

I'rinetra Ganesh Ji”" Temple of Rajasthan is

Choose the most appropriate answer from the

options give below.

(A)  Kumbhalgarh Fort

(B)  Jaisalmer Fort

(C) Ranthambore Fort

(D) Bhangarh Fort

(E)  Question not attempted

TS & e rov S et et feora 22
ﬁuﬁvﬁ‘@a%m‘fffﬁwaﬁ?:a;wg?ﬁmgi:

(A) #F9eg e (B) SR fohenm
\Le)/mzhﬁtf‘am (D) T fere

(E)

Sl 94

‘/1’33/ Recently in 2024, Rajasthan’s Animal Husbandry
and Dairy Minister launched camel milk with the
brand name:-

Choose the most appropriate answer from the
options given below:

(A)  Amul (B) Saras
(C) Nandini (D)  Urmul
(E)  Question not attempted

BT &1 2024 7 TSEAT % 29T vd 2 1) g
Freeft w1 7 o arve s @ gpavon foar o
ﬁmﬁf@aﬁaﬁiﬁ&waﬂaa;mgmm:ﬁ:
(A) 3Hd (B) wwm

eyt (D) Safq

(E) ¥fafd wa
JKL-Z10] =
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/
QJ/ Which of the following is not correct aboyg the
' National Mission for Green India (GIM)?
Choose the most appropriate answer frop the

options given below:

(A)  This mission has adopted an integral Cros;
scctoral approach.

(B) It is one of the ninc missions outline
under the National Action Plan on Clipy,
Change (NAPCC).

(C) It aims at protecting, restoring gy,
cnhancing India’s  diminishing  fores
cover.

(D) Itenvisages a holistic view of greening,

(E)  Question not attempted

eftd ra & foe i sahem @vee fom 5
1 3fear (GIM) & e I SH-81 o 9oy 73

frafafaa faeredt & @ waffas sogw I,

, (A 3 e 3 ww wun s @ e g
7T 2

(B) TE STty qiEd O W & A1 5 =

- wqifaa st (fTem) (NAPCO) B3

2l
T I WA F BTE/Hd a7 &Y 2T FTE
QAR TOHT 3T ST 37 21
(D) T efaelt & gaw gfvenior i aftwer #0
| :
) gRa

J/\f/ho amongst the following Rajasthani womer

players got the Arjuna Award in 2023?
Choose the most appropriate answer from th
options given below:

(A)  Avni Singh Rathore
(B) Bhawani Singh

(C)  Divyakriti Singh

(D) Mohana Singh

(E)  Question not attempted

Frefeftaa wreet nfien faenfedt § & af 2023
{31l qwapT s fm .
Frferfian feepedt # & wrarffores suge so0

(A) 31 fie were
JB) v fefe

(©) e fie

(D)  #re fig

(E)  srqafe s

[ C()n(d--'
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oSS RS SNt sy =
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e JasD0n Do =50 Ged oS e
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» 1383 Which of the/following rivers is i Rajasthan?

Choose the mast appropriate answer from the
opuons given below:

(A) Sebarman

(B) Bharali

(C) Tungbhadra

(D) Godawan

(E) Qusston not anempted
FeefEr s s A A TR A R
F=iatan fae=g1 ¥ § Faifys 3ugw S 94

FrETEdat
(B) et
(C) gmen
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g T == F1 feemmz = e
—‘"—'uq.?nm'?l

Starch adulteration in milk can be detected by

Choose the most appropriate answer from the
opuons given below:

(A) Sulphuric acid

(B) Todine solution

(C)  Bleaching powder

(D) Chazlk powder

(E)  Question not attempted

(F) SFaiawd
Y\Kaxch List-I with List-II:

F=Tatag .dq—ﬂnnwmfmzmmaq
(A) Toahs w7
(B) FEEEIE

(D) 'A'—I?, PIEESS

List-I (Product) List-II (Description)
a. Bunter milk I By -productin
preparation of
chhena and paneer
Soft drink made

of whey

b. Skim milk II.

c. Whey 1.
d. Whevit V.

Fat separated milk
Fluid obtained by
churning of cream
into butter
SET-1 5 HTE G-11 31 o i
-1 (3TE) TET-11 (far=mo)
a B - L SrsRwn
N T § 39 - IR
EZERIciR e 0
4 ed 3
I F Y A
T | WY a¥e gared
Choose the most appropriate answer from the
options given below:
Wﬁm?ifiﬁwafﬁ)mwgmmgﬁ:

) a-V,b-Lec-I d-TII
(B) a-MLb-I,c-1v.d-1
(©) a-NMLb-Ic-1v.d-1I
(D) a-1V,b-IMl,¢c-1,d-11
(E)  Question not attempted / ﬂﬂﬁflﬁ 4
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M There are 40% girls and 60% boys in a class. If
the numbcr%d“f;boys in the class is 7 more than the

L.
number of gids, then the number of boys in the

N
classis: J

qa;mﬁm%agf%ﬁmaﬁtoma@:%mﬁm
t‘tmﬁmag%*ﬁﬁ7m% GUCTS IR

a@ﬁﬁ@%
w20
o
(B) 25 N
N
© 22 N
Ty
o 21 o
(E)  Question not attempted / TR 94
ot
L

/ .
J47 The averag%;o;f 9 consecutive natural numbers is

‘A, then th€aberage of the 5 largest numbers out

of the 9 nun?};érs is:
ST 9 YT HEATel 1 ShEA ‘A’ ®, 4 3
9 TS Hs T Sy HEars T e B:
=3
(A) A+l o
(B) A+
(48
LY AN
L0
(D) A+2
(E) Question not attempted / M@ﬁﬁﬁ qq
il
445/ & '
The average of first 11 multlples of 13 is:
13 % 74n lgk_uﬂm‘r 1 37 2
7 o1 O
w91
(B) 76 €O .
(c) 78
(D) 77
(E) Question not attempted / 31afta wx
JKL-Z10] =
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144/']"he main objective of “Heal in Rajasthan” is:

Clloosq"thc most appropriate answer from the
options given below:

) |
(A) /§\§Chcmc for large scale afforestation in

liaj‘asthan,

(B)  Tojrecover Rajasthan tourism from the
losses during Corona period.

(C) Tooestablish hubs for medical tourism,
catering to both domestic and international
tourists for secondary, tertiary and
quarternary care procedures.

(D) To‘ promote Rajasthan folk festival at
1{1temat10nal level.

(E)  Question not attempted

'iﬁ?f'sF{WTT ifer =1 e 3eTT T R?
ﬁﬂﬁﬁf@ﬁﬁmﬁﬁtwﬁbﬁmwm

(A) Wﬁaﬁmmﬁmﬁwmﬁ
T e

Wmmﬁ@uﬁ%mq&:m
gl

(©) Wammqﬁzaﬁ%%ﬁﬁ%m
{ﬁﬂ%ﬁﬁ?ﬁwmwaﬁﬁ%m

ﬁmm’r%:%ﬁéamﬁwm

(D) Wﬁ%r«ﬂﬁmﬁfﬁmﬁgﬁaww
serar ATl

(E) aqg‘;rﬁ'crw
<3

\4'45/ The Go?g}nment of Rajasthan notifies ‘Amnesty
Schemeg=2024"’ for settlement of dues in-
Choose(tlie most appropriate answer from the

options(given below:

(A) §t‘a}e and Centre GST

(B) Pre GST

(C) Post-GST

(D) Future-GST

(E) Qulestlon not attempted

UGIWH FRT YA FIST-2024" ford sl

amﬁq?:ﬁ %‘7
ﬁmmﬁmﬁﬁwaf%mmaﬁ
A R R GST &l

®) &STodE
(C) GST %tum\ B2l
(D) wf=-GST =
(E) 3rguftd wer
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A~
’l}«( Who chaired the Apex Committee of the ‘Natignal
Clean Air Programme’ on ‘Swach VayuvDivz;s’
(International Day of Clean Air for Blue Skies)
held at Jaipur in September, 20249
Choose the most appropriate answer from the

options given below:

(A) Bhajan Lal Sharma
(B) Bhupendra Rana

(C) Bhupendra Yadav

(D) Bhupendra Rawat

(E)  Question not attempted

o 9 faw ({fie smw ¥ fae = ag
i ﬁ:amqrﬁ‘mamo%ﬁmgtﬁgq
‘u@ama@m'aﬁg@qﬁﬁﬁm

R i
ﬁw%%aﬁﬁﬁéwﬁhmwgﬁw@:
(A) oS AT T

(B) U= TOm

(©) =

APY = T

(E) Srgaiaws

l/ Which of the following Wildlife Sanctuaries is
situated in Rajasthan state?
Choose the most appropriate answer from the

options given below:

(A) Annamalai
(B) Shant Ghati
"(C) Ramsagar
(D) Bandipur
(E)  Question not attempted

fFrafaftaa § @ #9-81 g=sia vareg UseaE |
fema?

frefafaa famredt & & waffia sugew Sw TH:
(A) AW
(B) i =R
THATT
(D) SEgT
- (B) ergaRawA 1,28
JKL-7Z10] = ‘zﬁ\)%g:\éb,

0
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IAB/Which of the following rivers of Rajasthan falls
in the Gulf of Khambat?

Choose the most appropriate answer from the

options given below:

(A) Brahmani (B) Chambal

(C) Mahi (D) Banas K
(E)  Question not attempted f
TSI ¥ wex arelt fFerfafas § & s |
G < @el | it 22

Frifefae et i & warfires swaes 0 <,

(A) STl (B) =v=d

(€) T S

(E) 3Tufa s

\M{Kolayat lake is situated in which of the following

places in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Kota (B) Udaipur

(C) Bikaner (D) Jaipur T
(E)  Question not attempted

TSTET H e 3fe ffeiaa o st o 22
Frerfefan feresit i & wavifires g e

(A) e @ IET

(C) s (D) SR

(B) rgaiaws

m which year did Maharana Bhupal Singh ascend
the Mewar Gaddi?

Choose the most appropriate answer from the

options given below:
o o o o vygrer fife 3 fars T W
e ferered § & warfires suges 3o g
(A) 1934 (B) 1930
€y 1931 ©) 1932
(E)  Question not attempted / AT T
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